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Vocab

Experiment: a process that leads to an outcome

Outcome: result of an experiment

Event: a collection of outcomes of an experiment

Sample Space: the set of all possible outcomes
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Some things to know:

1. If P(E) = 0 then event E will not happen.

2. If P(E) = 1 then event E is certain to happen.
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Some things to know:

3. If S is a complete set of events where

S = {E1, E2, E3, ... En} 

then

P(E1) + P(E2) + P(E3) + ...+ P(En) = 1

Which can be written as
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Some things to know:

4. If P(not E) is the probability of event E not 
happening, then

P(not E) = 1 - P(E)

P(not E) can also be written P(Ē) or P(¬E)
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The standard 6-sided die originated in Egypt and other places 
about the same time, about 2000 BCE

Gaming "dice" called astragalus had been used in the Middle East 
from about 3600 BCE
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The roulette wheel originated in France about 
1800 CE.

Europe Las Vegas
Russian



March 13, 2018



March 13, 2018



March 13, 2018

A woman and a man (unrelated) each have two 
children. At least one of the woman's children is 
a boy, and the man's older child is a boy. 

Do the chances that the woman has two boys 
equal the chances that the man has two boys?
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A random sample of 100 LHS students were asked the 
question:

"What mode of transport did you use to get to school today?"

It was found that 57 came by car, 28 came by mass transit 
(MT), 12 walked, and 3 came by "other".

If a student is chosen at random find:

P(they came by MT) =

P(came by car) = 

P(came by car and MT) = 

P(came by car or MT) =

P(came by not walking) = 
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In an office there are five women and four men. 
If a person is selected at random find these 
probabilities:

P(woman) =

P(man) =

P(man or woman) =

P(man and woman) =
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In a cooler there are 12 cans of cola and 6 cans of root beer. If 
you pick a can at random what is the probability that it is cola?
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In a different cooler there are 23 cans of cola and an 
unknown number of cans of ginger ale. If the probability of 
randomly picking a can of ginger ale is 0.4524 how many 
cans of ginger ale are there in the cooler?
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P(♠) = 

P(6) =

P(Q♦) =

P(♥ or ♣) =

P(K or Q) =

P(A♠) =
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What is the P(sum of 7)?

Let's see if it's true.

Doing a calculator simulation to find empirical 
probability.

Each of you need to do this so we can amass 
enough results to be useful.

7 not 7
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In the game of craps, using two dice, a person 
wins on the first roll if a 7 or an 11 is rolled.

Find the empirical probability of winning. 

P(7 or 11) = 
win lose
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In the game of craps, using two dice, a person 
wins on the first roll if a 7 or an 11 is rolled. 

Find the classical P(win on 1st roll) = 

Does this match the empirical probability? 
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In the game of craps a person loses on the first roll if a 2, 3, 
or 12 is rolled.

Find the empirical probability of losing on the first roll. 

Compare this to the classical probability.
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Probability Simulation exercise

Chevalier de Méré

aka

Antoine Gombaud
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